jtho\lraj

AERO TECHNOLOGY & HYDRAULICS

Displacement from 0.8to 11.8 ccm G EAR PUM PS

Pressure up to 280 bar
Speed from 500 to 5000 RPM P




.ilm nj- Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

TABLE OF CONTENTS
DESCRIPTION. ... e 2
B A C PR TS 2
PARAMETER TABLE .. e 3
FORMULAS USED FOR CALCULATION. ... 4
PUMP EFFICIENCIES. ... e 4
WORKING LIQUID . ... B}
PRESSURE LOAD .. ... oo 5
DIRECTION OF ROTATION ... 6
REVERSIBLE DESIGN. ..., 6
P23 FLOW RATEAND POWER CURVES ... e /
ORDERKEY - SINGLEVERSION ... oo 1
ORDER KEY - MULTIPLE VERSION . ... 12
COMBINATION OF FLANGES AND SHAFTS ... oo 13
FLANGE DESIGN .. 14
DRIVE SHA TS 15
COMBINATION OF LIQUID INLETSAND OUTLETS ..o 17

GPC_P23]02|2017|01 1



P23 Gear Pump Catalogue .ilm nj-

AERO TECHNOLOGY & HYDRAULICS

DESCRIPTION

M P23 line pumps are designed for advanced hydraulic systems with lower capacity (approximately up to 10 kW)
with high operational reliability and long service life. They have been produced in both one-way and reversible
version with internal or external drainage. A wide variety of designs with diverse drives, connecting flanges,
fluid inlets and outlets enable the pumps to be used in hydraulic systems of both fixed and mobile machines
and equipment. They are available in a special version modified for small hydraulic aggregates, too. Types of
connections and flanges as well as the other connecting dimensions correspond to all worldwide standards.

B P23 line pumps are also available as multiple versions (2 sections, 3 sections, etc.) with separate inlets of working
fluid into individual sections or with one common inlet. Individual sections can be sealed from each other.

B The pumps are made of high-quality aluminum alloys with steel gear-wheels and they are equipped with hydraulic
axial play compensation of new generation. Compared with the previous versions P and P2, the pressure and noise
parameters as well as the efficiency in the entire range of speed have been improved. As for their dimensions,
P23 pumps are fully interchangeable with P and P2 pumps.

BASIC PARTS

1. Body
2.Flange
3. Cover
4. Driving gear
5. Driven gear
6. Balancing sealing
7.Sealing protective plate
8. Shaft seal
9. Bearing sleeves
Nl | 10. Nut
Q/ : 11. Safety ring
- ' 12. Connection bolts
Q Q 13. Spring washer
: 14. Woodruff key
N 15. Centering pins
3 16.Plate

2 GPC_P23/02|2017|01



AERO TECHNOLOGY & HYDRAULICSJ

Gear Pump Catalogue

1
N
€

Nominal Size Parameters Sym. | Unit (I))%% 1P 22% f 26% 521% ;25% 523% :I;%% E

Actual displacement Vg [em?] 0.855 1.257 1.686 2.086 2.514 3.316 3.611 E

nominal Ny [min™] 1500 1500 1500 1500 1500 1500 1500 o

Rotation speed minimum Nrmin [min™] 800 800 600 600 500 500 500 Ll

maximum Nimax [min] 5000 5000 4500 4500 4000 4000 4000 E

) minimum P1min [bar] 0.3 0.3 0.3 0.3 0.3 0.3 0.3 E

Pressure at inlet* : <t

maximum P1max [bar] 0.5 0.5 0.5 0.5 0.5 0.5 0.5 P~

max. continuous p2n [bar] 280 280 280 280 280 280 260 <T

Pressure at outlet** | maximum P2max [bar] 300 300 300 300 300 300 280 o-
peak p3 [bar] 310 310 310 310 310 310 290

Nominal flow rate (min.) at n, and p2n Qn |[dm’min™]| 1.07 1.60 2.13 2.71 3.35 454 498 .

Maximum flow rate at npay @ pamax Omax | [dmmin™]| 3.92 5.88 7.06 9.26 9.80 12.94 | 14.11 §

Nominal input power (max.) at np and p2n Py [kW] 0.70 1.04 1.39 1.72 2.07 2.97 3.35 };E

Maximum input power at Nmax @ P2max Pmax [kW] 2.51 3.70 4.96 5.52 6.65 7.80 7.93 é

Weight m [kg] 0.82 0.84 0.85 0.87 0.89 0.92 0.93 2

=

Nominal Size Parameters Sym. | Unit Xi% Z%%) SP%?(’) (I:ZZ% ;%% 15"?&0 g—é

Actual displacement Vg [em’] | 4386 | 4787 | 5804 | 6205 | 7.8% | 11795 £ o

nominal na | [min'l | 1500 | 1500 | 1500 | 1500 | 1500 | 1500 2 &

Rotation speed minimum i [min™] 500 500 500 500 500 500 % %

maximum Nmax [min] 4000 3800 3800 3500 3000 1800 £ z

) minimum P1min [bar] 0.3 0.3 0.3 0.3 0.3 0.3 E é

Pressure at inlet* - 2 S

maximum P1max [bar] 0.5 0.5 0.5 0.5 0.5 0.5 c =

max. continuous p2n [bar] 250 230 200 180 160 100 é §

Pressure at outlet** | maximum P2max [bar] 270 250 220 200 180 150 E g

peak P3 [bar] 280 260 230 210 190 160 ‘é g

Nominal flow rate (min.) at n, and p2p Qy | [dm’min”] 6.06 6.61 8.00 8.56 10.90 16.30 o i

Maximum flow rate at Nmax @ p2max Qmax | [dm3minT]| 17.25 17.88 21.60 21.27 23.23 20.82 % £

Nominal input power (max.) at ny and pzn Pn [kw] 3.23 3.24 3.4 3.29 371 3.47 ,:; %

Maximum input power at Nmax @ P2max Prmax [kw] 9.29 8.29 9.51 8.52 8.35 2.64 é E

Weight m [kg] 0.96 0.98 102 1.04 110 125 % E

==

Nominal Size Parameters Sym. | Unit 1P %% ;%% ;26% (I:ﬁ% ;%% 1%?30 g E

Actual displacement Vg [em?] 1.016 2.301 2.674 6.419 7.007 10.003 éé

nominal | [min'] | 1500 | 1500 | 1500 | 1500 | 1500 | 1500 =%

Rotation speed minimum Nmin [min™] 800 500 500 500 500 500 *‘i;

maximum Nimax [min] 5000 4500 4500 3500 3000 1800 E §

) minimum P1min [bar] 0.3 -0.3 0.3 0.3 0.3 0.3 g2

Pressure at inlet* - = >

maximum P1max [bar] 0.5 0.5 0.5 0.5 0.5 0.5 -%é

max. continuous P2n [bar] 280 280 280 180 170 100 j: 2

Pressure at outlet** | maximum P2max [bar] 300 300 300 200 190 150 _§ g

peak p3 [bar] 310 310 310 210 200 160 ] é

Nominal flow rate (min.) at n, and p2n Qn |[dm’min™]| 1.28 3.12 3.62 8.85 9.65 13.90 % =

Maximum flow rate at niay @ pamax Omax | [dmmin™]|  4.90 10.14 11.69 21.95 20.58 17.64 g %

Nominal input power (max.) at np and p2n P [kW] 0.84 1.89 2.20 3.40 3.50 2.94 5 s

Maximum input power at Nmax @ P2max Pl [kW] 2.99 6.09 7.08 8.81 7.83 530 E%

Weight m [ko] 0.83 0.88 0.90 1.05 1.08 120 TF

GPC_P2302/2017/01



P23 Gear Pump Catalogue .ilm nj-

AERO TECHNOLOGY & HYDRAULICS

FORMULAS USED FOR CALCULATION

Flow rate Vg - n Vg [em’]  pump displacement
Q Q = — -1, [dm* min"] n [min"] rotation speed
1000 Ny [-] volumetric efficiency
Displacement 0 - 1000
Vg Vg = —— [cm®]
n- Ny
Torque Vg P A red |
Mk Wi = INm] p [bar] requwe.pressgr.eatoutet
20 7T My Mm [-] mechanical efficiency
Input power Vg.n.p
P P = [kW] Nt [-] total efficiency
600- 1000 My

PUMP EFFICIENCIES

Volumetric It determines the amount of flow losses. Its value is My = 0,92 + 0,98 (depending on rotation speed,
efficiency viscosity of working liquid and outlet pressure). It can be expressed as follows:
nV O
iy = act. ] Qact. [dm*-min™] actual flow rate
v Qtheor Qtheor [dm*-min™] theoretical flow rate
Mechanical It determines mechanical losses. Its value is about Mm = 0,85.
efficiency It can be expressed as follows:
MNm u
o theor ] Mact. [Nm] actual torque
n Mac Mtheor [Nm]  theoretical torque
Total tis defined as product of Mn and Mim
efficiency and determines difference between theoretical and actual required input power:
Nt p
n o theor Pact. [KW]  actual input power
t= v 'Im=— -

Pact Ptheor [kKW]  theoretical input power

4 GPC_P23|02/2017/01



’ilm nj- Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

WORKING LIQUID

B Mineral oils for hydraulic drives
M Hydraulic liquids based on plant oils suitable for hydraulic drives

Liquid temperature
W t=-20++80[°C]
when used with FKM (Viton) seal up to 120 [°C]

Cinematic viscosity

M Recommended (during continuous operation): v=20+80-10%[m?-s"]
B Maximum (cold starting, at viscosity >1000, operating
pressure <10 bar is permissible, speed <1500-min™): v =1200-10%[m?-s"]
B Minimum (operating mode at 10-10® up 20-10°
should be consulted with manufacturer): v=10-10°[m?-s"]
Filtration coefficient g, B2575= (forpressure p2 < 200 bar)

B1075= (forpressure p2 > 200 bar)

Liquid contamination class according to 1ISO 4406  21/18/15 (for pressure p2 < 200 bar)
20/17/14 (for pressure p2 > 200 bar)

Liquid contamination class according to NAS 1638 10 (for pressure p2 < 200 bar)
8 (for pressure p2 > 200 bar)

PRESSURELOAD -

ts]

max05s max 20s |

|- - - -—

P2y Max. contin. pressure  Max. working pressure, at which the pump can be operated without time limitation.

P2max Max. pressure Maximum pressure permissible for a short time, max. 20s.

p;  peak pressure Short-time pressure (fractions of a second) arising in case of a sudden change of the operating mode; any excess of this pressure during
operation is impermissible.

GPC_P2302[2017|01 5



P23 Gear Pump Catalogue .ilm nj-

AERO TECHNOLOGY & HYDRAULICS

DIRECTION OF ROTATION

B Determine direction of rotation by looking at the drive shaft. The pump can only be used in the specified direction
of rotation.

CLOCKWISE "R" ANTI-CLOCKWISE "L" REVERSIBLE "B"

REVERSIBLE DESIGN

M The pumps with the possibility of bidirectional rotation have a different internal arrangement requiring drainage.
Two types of drain are used - internal and external. The internal drainage is always interconnected with the outlet

by means of valves. The external drainage is solved by an orifice located in the cover opposite the driven gear
(see. picture below).

M10 x 1
P18 7 1

-—

6 GPC_P23/02|2017|01



.ilm nj- Gear Pump Catalogue P23

& HYDRA!

P23 FLOW RATE AND POWER CURVES

25,00

20,00

15,00

Flow rate Q[l/min]

10,00

5,00

0,00

0 1000 2000 3000 4000 5000

Rotation speed n[1/min]
Above curves apply to 1SO Vg 46 oil at temperature t = 45°C.

GPC_P23]02|2017|01 /



P23 Gear Pump Catalogue .il-m nj-

AERO TECHNOLOGY & HYDRAULICS

25,00

20,00

15,00

Flow rate Q[I/min]

10,00

5,00

0,00

0 1000 2000 3000 4000 5000

Rotation speed n[1/min]
Above curves apply to I1SO Vg 46 oil at temperature t = 45°C.

8 GPC_P2302|2017|01



J_ Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

0,80 cm® 1,60 cm®
10
4
2
— —_ 3
= - = _
=, £ = £
Q = Q =
E @ E 2 @
o = o =
= s = s
[« | ] o | ]
= =
1
] 0
0 1000 2000 3000 4000 5000 1] 1000 2000 3000 4000
Rotation speed n [1/min] Rotation speed n [1/min]
2,50 cm®
8 20
6
. - 18
NN 7
280 bar !
° ke 16
_250; bar 6
14
— 4 —
= —_ = s JU—
= £ = 2 E
o 3 = L 4 n =
2 v 2 »
o = o =
5 S 5 - e 5
o - 2 o ] 2
o o
- - T6
2
1 14
1
T2
0 ’ — — — — 0 - s b N R
0 1000 2000 3000 4000 Y 0
0 1000 2000 3000 4000
Rotation speed n [1/min] Rotation speed n [1/min]

GPC_P2302[2017|01 9



Pz 3 Gear Pump Catalogue

Input power P [kW]

Input power P [kW]

T 20

Rotation speed n [1/min]

BE e o e L s e m i
1 ﬁ—-“"’”ﬁ” Poiobd
1000 2000 3000 4000

25

1000 2000 3000
Rotation speed n [1/min]

Torque M [Nm]

Torque M [Nm]

Input power P [kW]

Input power P [kW]

8
6
15 'E‘
=
41 =
[<5]
' =
110 &
=2
2
r S
720 bat
0  —— 0
0 1000 2000 3000
Rotation speed n [1/min]
5 25
4 20
3 15 'E'
=
=
[<5]
=
2 10 E'
=2
1 5
0 e 0
0 500 1000 1500 2000

Rotation speed n [1/min]

10

GPC_P23|02/2017/01



AERO TECHNOLOGY & HYDRAULICS

Gear Pump Catalogue P2 3

ORDER KEY - SINGLE VERSION

P23

- B33 R -

S01

DO1

- SG02

GO1

. 004

Code | Location of inlets and outlets
[
* = fm
Code | Displacement —] |(nbody)
[em’)
0,8 0,855 ——
0 1,016 — :
o : Axial
2 1,257 R E (i coes)
1,6 1,686 ———
2,1 2,086 1
2,3 2,301
25 2,514 il
2,65 2,674 F (in’:an Code Special arrangements
33 316 ge) :
) \ - No special arrangements
36 1.5111 001 | With front end bearing
44 4,386 002 | With relief valve
4,8 4,787 Axial 004 Without shaft seal
58 5,804 A E—3| |(inlet in cover, outlet -
6,2 6,205 in flange)
6,4 6,419
7,0 7.007 5 o Code Sealing material
7.9 7,890 ~==2, |Combination
10,0 10,003 c E (inlet in body N NBR
11,8 11,795 outlet in flange) v FKM (VITON)
XX Other displacement ———
on request CR (CHLOROPREN)
Combination
— E D 3| | (inlet in cover
rection o outlet in body) Liquid inlet and outlet
i rotation Code tion shape
R Clockwise
T Anti-clockwise Mo2 Thread M12x1,5
B Bi-directional
e Code Drive shaft design M3 ) Thread M14x1.5
Traper 1:8
Code Type coz Key 2,5x3,7 Mos @ Thread M18x1,5
P23 P23 series pump = !
co3 Traper 1:8 MO6 Thread M20x1,5
Key 2,4x5 @13
Code Flange design = o Mo7 Thread M22x1,5
e cos4 = "H) | Jraper 1
- © s::t';"ﬁ:?;aﬂggﬂe' ] Key 2x2,6-D7 Go1 Thread BSP G1/4
e .9 Spacing screw 52,4x71,9
K03 Cross coupling Go2 | Thread BSP G3/8
s01 SAEA-A -~ G03 Thread BSP G1/2
Ko4 Cross coupling
Flange with through bolts o uo2 Thread 9/16-18 UNF-2B
A03 centre ring @ 32 with O-ring Vo2 Cylindric
(deep center ring 7) — | Key 3h9x3x22 uo3 Thread 3/4-16 UNF-2B
Flange with through bolts Vo3 Cylindric uo4 ) Thread 7/8-14 UNF-2B
Ao4 centre ring @ 32 s O-ring Key 3,2x3,2x19.4 -
(deep center ring 8) Ho1 Flanged fitting @ 8
. H} Cylindric Square 4xM5 @26
Flange with through bolts Vo4 Key 3m6x14 Ho2 Flanged fitting @ 10
A0S centre ring @ 32 s O-ring Ir;o"‘“ms Square 4xM5 @26
(narrow desing) ]jD Cylindric k i |Flanged fitting @ 8
Flange with through bolts vos Key 3h9x3x10 H03 | 'oX’d | square 4xM6 @30
ADB centre ring @ 32 Hoa Flanged fitting @12
(narrow desing) po1 | S | involute spine Square 4xM6 @30
P01 Inlet / outlet in flange
z Special design 3 i
e 9 z Special design z Special design

An example of designation for the P23 anti-clockwise pump with displacement of 4.4 cm*/rev, SAE A-A flange, trapper 1:8 with key 2.5x3.7,
BSP side inlets and standard NBR seal without special arrangements: P23-4.4L-:501C02-SG03G03-N

GPC_P2302/2017/01

"



Pz 3 Gear Pump Catalogue

ORDER KEY - MULTIPLE VERSION

AERO TECHNOLOGY & HYDRAULICS

P23 - 3,3/3,3R-/S01 D01 - S G02 G01/G02 G01 - V.004
Displacement
Code fcm
0,8 0,855
1,0 1,016
1,2 1,257
1,6 1,686
21 2,086
23 2,301
2,5 2,514
2 8:5 2,674 Code | Location of inlets and outlets Code Special arrangements
33 3,316 - No special arrangements
38 3,611 001 [ With front end bearing
44 4,386 - e 002 | With relief valve
48 4,787 ; 004 | Without shaft seal
58 5,804 s Side
2 6205 i " (in body)
6,4 6,419
7.0 7,007 Code Sealing material
79 7,890
10,0 10,003 1 L i
11,8 11,795 I,EI v FKM (VITON)
XX Other displacement P [ | P
on request C CR (CHLOROPREN)
c Combination
Direction of K E
Code |, tation e Liquid inlet and outlet
R Clot_:kwise : 1 connection shape
'B- gi’j‘é;fm:'aﬁa Mo2 Thread M12x1,5
Code Drive shaft design M3 . |Thread M14x1,5
Code Type Traper 1:8
o — se:es rremny co2 Key 2,5x3,7 Mo5 @ Thread M18x1,5
o B Traper 1:8 M08 © | Thread M20x1.5
Key 2,4x5 @13
Code - Flange design R = Mo7 Thread M22x1,5
— raper 1:
ome] | Rectangular flange, co4 EE
- O°| |contre g @ 254 Key 2x2,6-D7 Go1 Thread BSP G1/4
® _°Y |Spacing screw 52,4x71,9 ) )
K03 _‘—-| Cross coupling Go2 Thread BSP G3/8
b =
so1 @ SAEA-A e Go3 ~ |Thread BSP G1/2
K04 Cross coupling
W Fiarios Wit g ol uo2 Thread 9/16-18 UNF-2B
A03 "SF) | centre ring @ 32 with O-ring Vo2 Cylindric
Qe (deep center ring 7) | Key 3hgx3x22 uo3 Thread 3/4-16 UNF-2B

w Flange with through bolts Vo3 Cylindric uo4 Thread 7/8-14 UNF-2B
AD4 e 2 centre ring @ 32 s O-ring Key 3,2x3,2x19,4 .
Q (deep center ring 8) HO1 Flanged fitting @ 8
: :HH} Cylindric Square 4xM5 @26
O Flange with through bolts Vo4 Key 3méx14 T2 Flanged fitting @ 10
A05 ?,] | centre ring @ 325 O-ring %2 | »7iim | Square 4xMi5 026
(narrow desing) Cylindric -—G)—‘- Flanged fitting @ 8
Vo5 y! HO3 i j g g
@ Flange with through bolts 1o Key 3n9x3x10 s Le ?:‘a‘:";’:d“r“ﬂ:‘:g%‘fz
ADB B g centre ring @ 32 Ho4
i (narrow desing) D01 :- Involute spline : Square 4xM86 @30
P01 @ Inlet / outlet in flange
Z Special design : :
ke 2 z Special design iz Special design

An example of designation for the P23 two-section clockwise pump with displacements of 4.4 and 3.3 cm®, rectangular flange, centre ring @25.4, Trapper 1:8 with key
2.4x5 @313, one common input and to outputs with metric threads, FKM sealing without special arrangements: P23-4.4/3.3R-R02C03-SM05M05/NM05-V

12 GPC_P23/02|2017|01



|iho\lroj

AERO TECHNOLOGY & HYDRAULICS

Gear Pump Catalogue Pz 3

COMBINATIONS OF FLANGES AND SHAFTS

FLANGE DESIGN
501 A03 A04 AO5 A06
=] D @ D
D ) @ @
wz| [-903 o
co3 | |-==T59 o °
s | —-8 o
K03 : o o
S okoa| ] °® ° o
=
=
E V02 | } o
Vo3 | ——— } o
Vo4 ﬁ——hq ®
@ - SUGGESTED (O - POSSIBLE

GPC_P2302/2017/01

13



Pz 3 Gear Pump Catalogue

AERO TECHNOLOGY & HYDRAULICSJ

FLANGES DESIGN

RO2:

A03:

A0Q5:

15, 4
4
©
=<
u
kN
S
d

28x2 "O" RING

68
52,4 +0,2
fa —
£ \v7)
® om0
: 5 o
-| S| wl
9 o &
o : . ~
] e e
pr—
ax D 7.2
65
60
40
— T
e S A
ol ") "
- o
- A ) S
~ [T} -
=l N <

28x2 "0" RING

70

60
40 0,2
) Q,—_
SBRCZ\¢
m{_ \\ 5
S N
0 | o
\\-.._ /
2x @ 8,7 '

40 +0,2

3218

106
82,55 T 6,3
o I
(32 ] =3 - e
o | <
[T+] —Q
%] i - Irs)
[
9.8
28x2 "0" RING
65
60
40 20 .8
e
w) ] -
& O @ i «f
: o S
o o @ 2y 5| 9
E N o 1
- |
.—--/
)
9723102 23302 26 2
€V ' T
60
40 +0,2 14 7
=
w
o)
o™
o
R 0) -9
e g
2x @ 8,7

14

GPC_P23|02/2017/01



n Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

C02: Co3:
29 1.2 29 1,2
KEY 2.5x3.7 KEY 2,4x5 @13
20,35 1.2 . 20,35 1,2 2
S _ 3
g%— 13 -0.7 E-E 3 3-07 .
[e)] LD— ()] / m..
S I / 1 b !
. . | . .
NUT M6 NUT M6
<11:8 WASHER 6 Jo, WASHER 6
8,85 +0,5 \_ Mmax: 30 Nm 885 +0 5 \_Mmax: 30 Nm
Co4: DO1:
26 +1
18 20 -06
+0,5
13,5 KEY 2x2,6-D7
NUT M6 INVOLUTE SPLINE
WASHER 6 10x0,8x10d CSN 014953
<115 Mmax: 30 Nm
Mmax: 30 Nm
K03: K04:
+0,3
- 0,4 = 0.2 12 -0,4
Mmax: 22 Nm Mmax: 22 Nm
= =
) = L1 S
— )
b 3
P4 0
\4_!'(
5304 6,5 +0.2

GPC_P2302[2017|01 15



P23 Gear Pump Catalogue .il-m nj-

AERO TECHNOLOGY & HYDRAULICS

V02: VO03:

30,3 . 27.8-08 8

(4p] D s ?

- 2 5|

g < A8

o~ o S ®

-— N ° 3 ol sl

S
: 1
1
Mmax: 30Nm Mmax: 30Nm
KEY 3h9x3x22 KEY 3,2x3,2x19,4
CSN 02 2562 CSN 02 2562
V04: VO05:
- 315-08
PIN 3M6x14
04 CSN EN ISO 8734 20404

10 . . 83
/" _Mmax: 30Nm 19,5 05 o So
I Cl: C)
cfl -
9 &
- 1
© 1

8 = KEY 3h9x3x10

S CSN 02 2562
Mmax: 30Nm

16 GPC_P23/02|2017|01



n‘ Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

LIQUID INLETAND OUTLET CONNECTION
Metric thread according to 1SO 6149

_gCc _ Displacement| (. - Inlet Code Outlet
| o [em’] A B  C|D A B C|D
all M03 M 14x1.5 132 [ 1] M2 M 12x1.5 12120 [ 1
0.8-33 M3 M 14x1.5 13126 | 1 | mo03 M 14x1.5 13 ] 26| 1
all M04 M 16x1.5 142 1 | moa M 16x1.5 %] 2] 1
all MO5 M 18x1.5 130130 ] 1 | Mos M 18x1.5 13]30 ] 1
all M06 M 20x1.5 14 ] 26 | 1 M02 - MO5
33-118 M07 M 22x1.5 13 ] 35| 1 M02 - MO5
BSPP pipe thread according to 1SO 228-1
Disp'a(ement k(’d Inlet kéd Outlet
[em’] A B|C|D A B| C|D
all G602 G 3/8" 13 ] 24 1 | 6ot G 1/4" 13 ] 26 ] 1
all G602 G 3/8" 1324 1| 602 G 3/8" 13 ] 24 | 1
all G03 G1/2" 13 ]34 ] 1] 603 G1/2" 13 ] 34| 1
UNF thread according to SAE
. ZCc _ Displacement| , . Inlet K6d Outlet
<A _ |0 [em’] A B | C|D A B | C|D
2 I all uo3 3/4-16 UNF 13 246 1 | U02 9/16-18 UNF 13 [ 266 1
O / @, all uo4 7/8-14 UNF 16 |340] 1 | 03 3/4-16 UNF 13 1300 1
Flanged fittings according to DIN 8901/8902
A5 e 95e Displacement | | ., Inlet kd Outlet
» -\ 3
- cm
o g ¥ [em?] A B | C A B| C
Tl all HO1 M5, depth 12 8 | 26 | HOT M5, depth 12 8 | 26
% 0.91& all HO2 M5, depth 12 10 | 26 | HO2 M5, depth 12 10 | 26
o ! all HO3 M6, depth 12 8 | 30 | HO3 M6, depth 12 8 | 30
all HO4 M6, depth 12 12130 | Ho4 M6, depth 12 12 | 30
NOTE: All inlets and outlets can be combination
Inlet/ Outlet in flange
) Outlet
%/// i Code
S P01 8 12.4 14

cr

Drains Displacement Outlet
3 Code
[em?] A B| C| D
all |M01 M10x1 8 | 15

GPC_P23]02|2017|01 17



P23 Gear Pump Catalogue

AERO TECHNOLOGY & HYDRAULICSJ

CATALOGUE SHETS OF P23 SERIES BASIC DESIGNS

—

103

825

60
.
I

16

05

\_KEY 32326194

19

NET 7 = - -

Order key purch. - direct. g:{!?n press Shelfﬁd Sl\l;l)f\;d A | B e E F

[em*1] | [bar] | [min™] | [min™] | [mm] | [mm] [mm] [mm] [mm] [mm]
Poa oL SOWGBSORDeN] L | 7| 10| S0 | 3000 458 | 956 | Gy 0342 [y | 0342
OSELSOBSIOMOENL | L | b2 | 10| S0 |30 @26 | 83 | [ 032 (0342
7235 B SOO3SUOACEN L] 58 | W0 | S0 350 49| @8 | funy 0M2) juhy 032
OSHELSOWOBSIOMOEL | L | 0 | B0 | S0 | 3900 400 | 880 | frh 032 [y 0342
OSSOSO L | 0 | 0| 00| 4000 | P2 | 85 | G 032 G 0342
POSSALSOOGSIOOEAL] L | 0 | B0 0 4000 38 | 76 | G 0342 (o | 032
OSSOSO L | 0 | B0 X0 4000 32| 785 | (0342 o | 0302
PO SLSOOBSIOINT | L | 25 | B0 | S0 400 357|755 | G | 0302] G | 0302
S ———— T T Ml Rl I R I W e I T
O TELSOBSIONT | L | o | %0 | S0 5000 301|723 | G 0302] G | 0302
OSSOSO L | 2| B0 | S0 | S000| 34| 108 | G 0302) i | 0302
OSOBLSOOBSUONIINT | L | 08 | 20| 800 5000 | 326 | 693 | UL 0302 ] (L0302

18

GPC_P23|02/2017/01



J_ Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

68 19 15 29
524 02

o o

34
574

262 20,1
L
L

2]

815

719 #02

OUTLET
-—‘ Tt

AN <18

KEY 25x37

i

.
=
|
@ 254 f8

NUT M6
u //IE WASHER 6
me S
purch S displa- | nom. | speed | speed dimension

Order key cement | press. | MIN. | MAX. A B c D E F

code | ofrot. |\ \rsiy | bl | (min'] | [min®] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm]

PR B NSO | L e 79 | 160 | 500 | 3000 | 458 | 956 | G3/8 | @24 | G3/8 | @24

P23-7.9L- R02C02-5G02G02-N

P23-6.2R- R02C02-5602G02-N | 187 9804

P236.2L- R02C02-5G02GO2-N 6.2 180 500 | 3500 | 42.6 89.3 G3/8 024 G3/8 024

PRSI AU SEAOVE ey 22t 58 | 200 | 500 | 3500 | 419 | 878 | G38 | @24 | G3/8 | @24

P23-5.8L- R02C02-5G02G02-N

P MPCMESIAGIAY | L8 2 4.8 230 500 | 3800 | 40.0 84.0 G3/8 024 G3/8 024

P23-4.8L- R02C02-5G02G02-N

PLEAAE SDABE SN | i delin 44 | 250 | 500 | 4000 | 392 | 825 | G38 | 024 | G38 | 024

P23-4.41- R02C02-5G02G02-N

P23-3.6R- R02C02-5602G02-N | 187 9951

P233.6L- R02C02-5G02GO2-N | 1879018 3.6 260 500 | 4000 | 37.8 79.6 G3/8 024 G3/8 024

PLESE B RUAUVE AV e et 33 | 280 | 500 | 4000 | 372 | 785 | G3/8 | 024 | G38 | 024

P23-3.3L- R02C02-5G02G02-N

P2 ol MU | 180 250 2.5 280 500 | 4500 | 357 75.5 G3/8 024 G3/8 024

P23-2.51- R02C02-5G02G02-N

P23-2.1R-R02C02-SG02G02-N | 187 9983

5539 11 R09C02.SG02G02 N 21 | 280 | 600 | 4500 | 349 | 739 | G38 | 024 | G3B8 | 024

P2 Gl OPHESEIPEAA | 8T #02 1.6 280 600 | 5000 | 34.1 72.3 G3/8 024 G3/8 024

P23-1.6L- R02C02-5G02G02-N

LA SR OGP 12 | 280 | 600 | 5000 | 334 | 708 | G3/8 | 024 | G3/8 | 024

P23-1.2L- R02C02-5G02G02-N

P23-0.8R- R02C02-5G02G02-N | 187 9982

—|O|— || ™| | " | ™| | " | ™| | " | ™| | " | || O

P23-0.8L R02C02-5G02G02-N 0.8 280 800 | 5000 | 326 69.3 G3/8 024 G3/8 024

GPC_P2309]2016|01 19



Pz 3 Gear Pump Catalogue

%
.

262 01

95|

79 202

% _.- 885¢05
- A

QUTLET 0
[
N
1 D
=
0 WASHER 6
INLET F

. displa- | nom. | speed | speed dimension
p“’;h' d'f'e‘:' cement | press. | MIN. | MAX. | A B c D E F
code | OO 4 1em1] | bar] | [min] | [min"] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm]

Order key

Pl S 79 | 160 | 500 | 3000 | 458 | 956 | G3/8 | @24 | G3/8 | @24

P23-7.9L- R02C03-5G02G02-N
P23-6.2R- R02C03-5602G02-N | 187 9959

$23-6.21- R02C03-5G02G0N | 187 9720 6.2 180 500 | 3500 | 42.6 89.3 G3/8 024 G3/8 024

P23-5.8R- R02C03-SG02G02-N | 187 9206

5.8 200 500 | 3500 | 419 87.8 G3/8 024 G3/8 024

P23-5.8L- R02C03-5G02G02-N
P23-4.8R- R02C03-5602G02-N | 187 9978

4.8 230 500 | 3800 | 40.0 84.0 G3/8 024 G3/8 024

P23-4.8L- R02C03-5G02G02-N | 187 9723
P23-4.4R-R02C03-SG02G02-N | 187 9993

4.4 250 500 | 4000 | 39.2 82.5 G3/8 024 G3/8 024

P23-4.41- R02C03-5G02G02-N
P23-3.6R- R02C03-5602G02-N

$733 6L- R02C03-SG02G02N 3.6 260 500 | 4000 | 37.8 79.6 G3/8 024 G3/8 024

P23-3.3R-R02C03-SG02G02-N | 187 9939

3.3 280 500 | 4000 | 37.2 78.5 G3/8 024 G3/8 024

P23-3.3L- R02C03-5G02G02-N | 187 9709
P23-2.5R- R02C03-5602G02-N | 187 9968

2.5 280 500 | 4500 | 357 75.5 G3/8 024 G3/8 024

P23-2.5L- R02C03-5G02G02-N | 187 9990
P23-2.1R-R02C03-SG02G02-N | 187 9204

5539 1L R09C03 <G00 N 21 | 280 | 600 | 4500 | 349 | 739 | G3/8 | 024 | G38 | 024

P23-1.6R- R02C03-5602G02-N | 187 9711

1.6 280 600 | 5000 | 341 72.3 G3/8 024 G3/8 024

P23-1.6L- R02C03-5G02G02-N
P23-1.2R-R02C03-SG02G02-N | 187 9938

1.2 280 600 | 5000 | 334 70.8 G3/8 024 G3/8 024

P23-1.2L- R02C03-5G02G02-N | 187 9710
P23-0.8R- R02C03-5602G02-N | 187 9203

— ||| ™| ™| — | " | ™| — | " — | ™| | " | ™| | " — | " — |

P230.8L- R02C03-5G02G02N 0.8 280 800 | 5000 | 32.6 69.3 G3/8 024 G3/8 024

20 GPC_P2302|2017|01



J_ Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

68 1B @ 30 15 29 .
524 02

34

262 01
574

79 02
875

88505
A

ok

WIET ¢ 8

<118
KEY 246x5 @13

= T
|
8

)

NUT M6

. WASHER 6

INLET @ 12 | g

Order key pct;rgs. g'f'fo‘: cdelrs{e!zt :roeTs Sﬁﬁﬁd snﬁf&d A dimension B
[em*1] | [bar] | [min] | [min] [mm] [mm]
025 791 ROLCSHOAROI | 1579005 L | 7| 10| 00| 3000 158 456
0286 ROCOISHOARORAT 167903 L | O 160 | S0 | 350 i 593
o255 Bl RORCSHOMROI | 1579073 L | 50 | 00 | 00| 350 " o7
P28 4 L ROCOISHOARORAT 167007 L | 0 B0 | S0 | 3600 0o o4
P25 L ROLCASHOAROI | 157906 L | 0 | 0| 00| 4000 7 63
0283 6L ROCOISHOAROBAT 167972 L | 0 %0 | S0 | 4000 78 s
o253 L RORCSHOAROI | 179001 L | 7 | %0 | 00| 4000 72 703
028251 ROICOISHOARORAT 167901 L | 25 %0 | S0 | 4500 557 753
o252 1L RO SHOMROI | 1570726 L | © | 0| 800 | 4500 5 735
P28 L ROCOISHOARORATY 167702 L | 0 0 | 60 | 500 . 73
SR o ———— Wl Ml 54 708
723,051 ROZCO3 SHOMO3 N [ o8 | om0 | a0 | s e 60

GPC_P2302[2017|01 21



Pz 3 Gear Pump Catalogue

AERO TECHNOLOGY & HYDRAULICS

68

524 02

34

29

2035

574

L. — .. —
F| o Ea d
|
o« o
(oINS
eg’\
ok
QUTLET .
] ¥
|
i | KEY 25 x 37
' 91_
= : NUT M6
T E WASHER 6
INLET
F
. displa- | nom. | speed | speed dimension
Order key p"’;h' d'f'e‘:' cement | press. | MIN. | MAX. | A B c D E F
code | OFIOL | 1em31] | [bar] | [min] | [min] | [mm] | [mm] mm] | [mm] | [mm] [mm]
P23-7.9R-R02C02-SMO7MO7-N| 187 9851 R
RN 57 5562 ] 7.9 160 | 500 | 3000 | 458 | 956 | M22x1.5 | @28 | M22x1.5 | 028
P23-6.2R- R02C02-SMO7MO7-N| 1879839 | R
IS PTG 57 9520 ] 6.2 180 | 500 | 3500 | 42.6 | 89.3 | M22x1.5 | @28 | M22x1.5 | 928
P23-5.8R-R02C02-SM0O7MO05-N| 187 9850 R
Tl 27 98¢ ] 5.8 200 | 500 | 3500 | 41.9 | 87.8 | M18x1.5 | @24 | M22x1.5 | 028
P23-4.8R- R02C02-SMO5MO5-N| 187 9849 | R
eIl 57 9550 ] 4.8 230 | 500 | 3800 | 40.0 | 84.0 | M18x1.5 | @24 | M18x1.5 | @24
P23-4.4R-R02C02-SMO5MO05-N| 187 9848 R
5934 4L R0DCOLSMOSMOS N 187 9850 | L | 4 | 250 | 500 | 4000 | 39.2 | 825 | M18L5 | 024 | M1&15 | 024
P23-3.6R- R02C02-SMO5MO5-N| 1879847 | R
R PETEE Rl 57 9553 ] 3.6 260 | 500 | 4000 | 37.8 | 79.6 | M18x1.5 | @24 | M18x1.5 | @24
P23-3.3R-R02C02-SMO5MO05-N| 187 9846 R
5933 3L R0DCOLSMOSMOS N 1879857 | L | 33 | 280 | 500 | 4000 | 37.2 | 785 | M1815 | 024 | M1&15 | 024
P23-2.5R- R02C02-SMO5MO05-N| 187 9845 | R
RSO PSR El 157 955 ] 2.5 280 | 500 | 4500 | 357 | 755 | M18x1.5 | @24 | M18x1.5 | @24
P23-2.1R-R02C02-SMO5MO5-N| 187 9844 R
R 57 955 ] 2.1 280 | 600 | 4500 | 349 | 73.9 | M18x1.5 | @24 | M18x1.5 | @24
P23-1.6R- R02C02-SM03MO03-N| 1879843 | R
T T T ] 1.6 280 | 600 | 5000 | 34.1 | 72.3 | M14x1.5 | ©20 | M14x1.5 | ©20
P23-1.2R-R02C02-SMO3MO3-N| 187 9842 R
T ot EBETE ] 1.2 280 | 600 | 5000 | 33.4 | 70.8 | M14x1.5 | ©20 | M14x1.5 | 620
P23-0.8R- R02C02-SM03MO03-N| 187 9841 R
ST o e U IE e R T ! 0.8 280 | 800 | 5000 | 32.6 | 69.3 | M14x1.5 | @20 | M14x1.5 | @20

22

GPC_P23|02/2017/01



AERO TECHNOLOGY & HYDRAULICSJ

Gear Pump Catalogue P2 3

68

524 02

719 202
875

OUTLET

315

63

g
. //: )
R o= R
5 \ v
i — WASHER 8.4
INLET
o i | S o | g
[em®1] | [bar] | [min] | [min?] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm]
e o oea e (181988 L R} 79 | 160 | 500 | 3000 | 458 | 956 | G3B | 024 | GIB | 02
o era i (1819836 L R} 55 | 200 | 500 | 3500 | 419 | 878 | 638 | 024 | G3B | 02
oo (18198 LRy 50 | s00 4000 | 392 | 825 | 638 | 024 | G3B | 02
e o oea i (1819832 L R} 35 | 280 | s00 | 4000 | 372 | 785 | 638 | 024 | 638 | 02
et 2K 95 | 250 | so0 | 4500 | 357 | 755 | 638 | 024 | 638 | 024
o seae i (181980 L R gq | 280 | e00 | 4500 | 349 | 739 | 638 | 024 | 638 | 02
a0 2L R g6 | gg0 | s00 5000 | 341 | 723 | 638 | 024 | 638 | 024
o oo i (1819828 L R}y | 280 | 600 | 5000 | 334 | 708 | 638 | 024 | 638 | 02
e 2L R g | 280 | 800 | 5000 | 326 | 693 | 638 | 024 | 638 | 02

GPC_P23|02|2017]01

23



Pz 3 Gear Pump Catalogue

AERO TECHNOLOGY & HYDRAULICS

60

21

ey
40 £02 = CLUTEH B6
20 . LI L T
. gl =20 |
: 9 =1 =
4 43 Ay
] = ;[
o 1
i
B
INLET
0 7
- tf 5
ﬁ\E | 26 01 |, "0" RING 28x2
=}
 5°
=LA |
)%
OUTLET F
q displa- | nom. | speed | speed dimension
Order key p"’;h' d'f'e‘:' cement | press. | MIN. | MAX. | A B c D E F
code | OFIOL | 1317 | [bar] | [min™] | [min"] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm]
P23-7.9R-A03K03-5G02G02-N | 1879955 | R
5997 0L A03K03.5602600.1 i 79 | 160 | 500 | 3000 | 51.8 | 1016 | G3/8 | 024 | G3/8 | 024
P23-6.2R- A03K03-5G02G02-N | 1879733 | R
599 6 2L A03K03.5G02602 N i 62 | 180 | 500 | 3500 | 486 | 953 | G3/8 | 024 | G3/8 | 024
P23-5.8R- A03K03-5G02G02-N | 1879004 | R
NSO, i 58 | 200 | 500 | 3500 | 47.9 938 | G3/8 | 024 | G318 | 024
P23-4.8R- A03K03-5G02G02-N | 1879732 | R
5994 8L 103035602602 1 i 48 | 230 | 500 | 3800 | 460 900 | G3/8 | 024 | G318 | @024
P23-4.4R-A03K03-SG02G02-N | 1879412 | R
T i 44 | 250 | 500 | 4000 | 452 885 | G3/8 | 024 | G318 | 024
P23-3.6R- A03K03-5G02G02-N | 1879735 | R
5993 6L 103035602602 N i 36 | 260 | 500 | 4000 | 438 856 | G3/8 | 024 | G318 | @024
P23-3.3R-A03K03-SG02G02-N | 1879724 | R
RO, i 33 | 280 | 500 | 4000 | 43.2 845 | G3/8 | 024 | G318 | 024
P23-2.5R-A03K03-5G02G02-N | 1879751 | R
5999 £ 103035602602 N i 25 | 280 | 500 | 4500 | 417 815 | G3/8 | 024 | G318 | 024
P23-2.1R-A03K03-5G02G02-N | 1879991 | R
S TE— o oocc | | 21 | 280 | 600 | 4500 | 40.9 799 | G3/8 | 024 | G318 | 024
P23-1.6R- A03K03-5602G02-N R
5997 6L A03K03.5G02602 1 i 16 | 280 | 600 | 5000 | 40.1 783 | G3/8 | 024 | G318 | 024
P23-1.2R- A03K03-5602G02-N R
e i 12 | 280 | 600 | 5000 | 39.4 | 768 | G3/8 | 024 | G3/8 | 024
P23-0.8R- A03K03-5602G02-N R
5990 8L 103035602602 1 i 08 | 280 | 800 | 5000 | 386 | 753 | G3/8 | @24 | G3/8 | 024

24

GPC_P23|02/2017/01



Gear Pump Catalogue Pz 3

QUTLET

40 £02

85

= CLUTCH
CL
R 03
43 -
Q
ot

. Z
j i 26 01 “0" RING 28x2
= | B
_ - E
INLET F
orer ey . | S| o e | g
[em*1] | [bar] | [min™] | [min"] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm]
PETRACKISGISIE0S W00 | R | 5 150 | 500 | 3000 | 448 | a6 | 638 | 024 | 63 | 024
P36 RAKISCUSUENO0S TOTIROT | R | o, | 130 | 500 | 3500 | 416 | 83 | 638 | o4 | 63 | 024
Eggggfﬁgégggssggzzggzzﬁggf 107782 T 58 | 200 | 500 | 3500 | 409 | 868 | G3/8 | @24 | G3/8 | 024
PLASRMSOISRONON [ TTTTE | R | 45 | 239 | oo | 30 | 90 | w30 | G3s | 028 | 63 | o
PLSRASESOIENOO TOTIONT [ R |y, | 355 | s | aooo | 82 | o15 | 698 | o2 | co8 | o
P23 GRATKIISOUSUENO0S 79816 TR | 3, | 250 | 500 | aoo0 | 38 | 786 | 638 | 024 | 63 | 024
o ST, | w0 | s o on | om | o
P32 SRATSKOS SORGOLNO0A (TOTOBTE [R5 5™ 300 | 500 | aso0 | 347 | 745 | 63 | 024 | G3s | 024
T @ o [ e o on o
e R T L o0 w1 s o | on | o | o
T Y Y P TR T T
P UGRAOKIESCOON G TETTEIE | R | 5 | 350 | so0 | som0 | 516 | 683 | 698 | 024 | 638 | 020

GPC_P23|02|2017]01

25



P23 Gear Pump Catalogue n

AERO TECHNOLOGY & HYDRAULICS

60
L 40202

20

. .
‘o

¢B'j..

40 202

QUTLET 0

60
|
|
—
|
|
| I |
¢ 32 18

INLET

. displa- | nom. | speed | speed dimension
p“’;h' d'f'e‘:' cement | press. | MIN. | MAX. | A B c D E F
code | OO 4 1em1] | bar] | [min] | [min"] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm]

Order key

P23-7.9R- AO6K04-5G02G02-N 79 | 160 | 500 | 3000 | 448 | 946 | G3/8 | 024 | G638 | 024

P23-7.9L- A06K04-SG02G02-N

P23-6.2R- A06K04-5G02G02-N

$73-6.2L- AOGK04-SG02G02N 6.2 180 500 | 3500 | 41.6 88.3 G3/8 024 G3/8 024

PR R 58 | 200 | 500 | 3500 | 409 | 868 | G358 | @24 | G3/8 | @24

P23-5.8L- A06K04-SG02G02-N

R2SaERaCKDS S S02E0 AN 4.8 230 500 | 3800 | 39.0 83.0 G3/8 024 G3/8 024

P23-4.8L- A06K04-5G02G02-N

P23-4.4R- AD6K04-5G02G02-N | 187 9944 44 | 250 | 500 | 4000 | 382 | 815 | G3/8 | ©24 | G38 | ©24

P23-4.41- A06K04-SG02G02-N

2SR Rt ekDe S S02E0 AN 3.6 260 500 | 4000 | 36.8 78.6 G3/8 024 G3/8 024

P23-3.6L- A06K04-5G02G02-N

.. 33 | 280 | 500 | 4000 | 362 | 775 | G358 | @24 | G3/8 | @24

P23-3.3L- A06K04-SG02G02-N

2SSkt UOKUS 502 62 N I GRS 2.5 280 500 | 4500 | 347 74.5 G3/8 024 G3/8 024

P23-2.5L- A06K04-5G02G02-N

P23-2.1R- A06K04-5G02G02-N | 187 9942

5535 11 106K04.C02G0L N 21 | 280 | 600 | 4500 | 339 | 729 | G38 | 024 | G3/8 | 024

P23-1.6R- A06K04-5G02G02-N

P31 6L AOGK04-SG02G02N 1.6 280 600 | 5000 | 331 713 G3/8 024 G3/8 024

P23-1.2R- A06K04-5602G02-N

5531 91 106K04.SC02G0L N 12 | 280 | 600 | 5000 | 324 | 698 | G38 | 024 | G3/8 | 024

P23-0.8R- A06K04-5G02G02-N
P23-0.8L- A06K04-SG02G02-N

— ||| || " — | ™| " | " | ™| | ™| ™| | O

0.8 280 800 | 5000 | 31.6 68.3 G3/8 024 G3/8 024

26 GPC_P2302|2017|01



Gear Pump Catalogue P2 3

12 o
QUTLET
8 o
2

“0" RING 28x2
Order key pct;rgz. g'f'fo‘: cdelrs{e!zt :roer:s Sﬁfﬁd sl\in):;d A dmenton B

[em*1] | [bar] | [min] | [min] [mm] [mm]
P23-7.9L- AOAK04-AGO2POT-N | 187 9905 T 7.9 | 160 | 500 | 3000 746 100.6
P23-6.2L- AO4K04-AGO2P01-N | 187 9989 }E 6.2 180 200 | 3500 883 943
P23-5.8L- A04K04-AG02P01-N | 187 9904 T >8 200 300 | 3500 868 728
P23-4.8L- AO4K04-AGO2P01-N | 187 9976 E 48 230 500 | 3800 830 89.0
P23-4.41- AO4K04-AGO2P01-N | 187 9977 E 44 250 500 | 4000 815 87.5
P23-3.6L- A04K04-AGO2P01-N | 187 9921 IE 36 260 500 | 4000 786 846
P23-3.3L- A04K04-AG02P01-N | 187 9920 E 33 280 500 | 4000 775 835
P23-2.5L- A04K04-AG02P01-N | 187 9919 IE 25 280 500 | 4500 74 805
P23-2.1L- A04K04-AGO2P01-N | 187 9975 IE 21 280 600 | 4500 729 789
P23-1.6L- A04K04-AGO2P01-N | 187 9918 IE 16 280 600 | 5000 73 773
P23-1.21- AO4K04-AGO2P01-N | 187 9953 IE 12 280 600 | 5000 69.8 /58
P23-0.8L- A04K04-AGO2P01-N | 187 9952 IE 08 280 800 | 5000 683 743

GPC_P2302/2017/01

27



Pz 3 Gear Pump Catalogue

65

40 0.2
20

23

OUTLET

Z - RING 282
26 011, INVOLUTE SPLINE 10x0,8x10d
= T
g M= [— — + — g z

Order key pc‘(')';:' g'f're;: fe'ﬁf!ﬁt :roer:s Sl\?l?ﬁd ﬁ&d A dmenton B

[em*1] | [bar] | [min] | [min] [mm] [mm]
P23-7.9L- AO3D0T-AGO2PO1-N | 187 9917 T 7.9 | 160 | 500 | 3000 7.6 1016
P23-6.2L- AO3D01-AGO2P01-N | 187 9916 T 6.2 180 200 | 3500 89.3 73
P23-5.8L- AO3D01-AGO2P01-N | 187 9915 }E >8 200 500 | 3500 878 738
P23-4.8L- AO3D01-AGO2P01-N | 187 9914 T 48 230 200 | 3800 84.0 700
P23-4.41- AO3D01-AGO2P01-N | 187 9913 T 44 250 500 | 4000 825 88.5
P23-3.6L- A03D01-AGO2P01-N | 187 9912 f 36 260 500 | 4000 796 856
P23-3.3L- A03D01-AGO2P01-N | 187 9911 T 33 280 500 | 4000 785 84.5
P23-2.5L- A03D01-AGO2P01-N | 187 9910 E 25 280 200 | 4500 75 81.5
P23-2.1L- AO3D01-AGO2P01-N | 187 9909 E 21 280 600 | 4500 739 799
P23-1.6L- AO3D01-AGO2P01-N | 187 9908 E 16 280 600 | 5000 723 783
P23-1.2L- AO3D01-AGO2P01-N | 187 9907 E 1.2 280 600 | 5000 708 768
P23-0.8L- A03D01-AGO2P01-N | 187 9906 IE 08 280 800 | 5000 69.3 753

28

GPC_P23|02/2017/01



J_ Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

65 19 21

f———]
40 *02 EL
20 L..j_

& 81— T —] N

P S
@ 2
Y g & =

RE; o -

o~

23

“§ 0" RING 2812
A

60

LENT

Order key pct;rgz. g'f'fo‘: cdelrs{e!zt T Sﬁfﬁd shﬁ:;d A dmenter B

[em*1] | [bar] | [min] | [min] [mm] [mm]
P23-7.9R-A03K03-AGO2POT-N | 1879895 | R | o | 100 | 500 | 3000 95 6 101.6
P23-6.2R- A03K03-AGO2P01-N | 187 9898 lii 6.2 180 500 | 3500 893 953
P23-5.8R- AO3K03-AGO2POT-N | 187 9894 r; s | 200 | 500 | 3500 878 93.8
P23-4.8R- A03K03-AGO2P01-N | 187 9900 lii 48 230 500 | 3800 84.0 90.0
P23-4.4R-A03K03-AGO2POT-N | 187 9902 r; a4 | 250 | s00 | 4000 825 88.5
P23-3.6R- A03K03-AGO2PO1-N | 187 9901 r& 26 | 260 | 500 | 4000 706 85.6
P23-3.3R- A03K03-AGO2POT-N | 187 9882 r; 23 | 280 | 500 | 4000 785 845
P23-2.5R- A03K03-AGO2P01-N | 187 9897 lii 25 280 500 | 4500 755 815
P23-2.1R-A03K03-AGO2POT-N | 187 9896 E 21 | 280 | 600 | 4500 73.9 79.9
P23-1.6R- AO3K03-AGO2P01-N | 187 9998 Fli 16 280 600 | 5000 72.3 78.3
P23-1.2R- AO3K03-AGO2POT-N | 187 9997 E 12 | 280 | 600 | 5000 70.8 76 8
P23-0.8R- AO3K03-AGO2P01-N | 187 9996 FE 0.8 280 800 | 5000 49.3 75.3

GPC_P2302[2017|01 29



Pz 3 Gear Pump Catalogue

68 19 @ 30, %, 15 29 .
524 £02
2035
— un 1
oS . B s
g N ! 1N
' o Lo sLe
G| . ey 1] 1 | N | g0
o = 3 \ NS e L ,@ : :
o| & e & o |l
| |
\
\_ﬁ 885405
A
. B
C
wner @ S{J ouner @8 L%J
~ X B =] 18
! * KEY 25 x 37
3 —a-{ i Al HES &
1
i NUT M6
WASHER 6
INLET 2 3z INLET 2 =
. displa- | nom. | speed | speed dimension
Order key puﬁh' dlfrec:. cement | press. | MIN. | MAX. A B c
code | OFIOL | 1em31] | bar] | [min"] | [min] [mm] [mm] [mm]
LA RO A SN 'E 6.212.5 1180/280| 500 | 3500 12,6 119.0 158.8
P23-4.8/2.5R-R02C02-SHO4H03/HOAHO3-N | 187 9888 FE 48125 12301250 500 3800 40.0 1137 1535
P23-3.6/3.6R-R02C02-SHO4HO3/HOAHO3-N | 187 9866 !E 3.6/3.6 120012601 500 | 4000 378 1114 1532
P23-3.6/2.5R-R02C02-SHO4H03/HOAHO3-N | 187 9865 FE 3.6/25 126012801 500 | 4000 378 1093 149 1
P3-L3I2RROZCOL SHOHOSHOHOSN FE 25125 2801280, 500 | 4500 35.7 105.2 145.0
P2, HOBRROIEOLSHOOS A DM FE 1.2/0.8 1280/280| 600 | 5000 33.4 97.4 134.1

30 GPC_P2302|2017|01



J_ Gear Pump Catalogue P23

AERO TECHNOLOGY & HYDRAULICS

68
524 $02

7))
:J[

3

262 01
L
L

875

719 0.2

s
OUTLET b OUTLET E
F D _,
| <
3 | @ KEY 25 x 37
. -
=] 1] %,
T e e o e e s
i =l
= | o NUT M6
= F -1 A0 | WASHER 6
INLET 6 ] INLET E
. displa- | nom. | speed | speed dimension
Order key purch. | direct. | o et | press. | MIN. |MAX. | A | B | C | D | E | F | G

code | ofrot. | sty | Tbarl | [min'] | [min'] | (mm] | [mm] | [mm] | (mm] | [mm] | [mm] | (mm]

P32 R ROZCOZ-SMOTMOTMOSMOS A 6.2/2.5 1180/280] 500 | 3500 | 42.6 | 119.0 | 158.8 |M22x1.5| 028 |M18x15| @24

P23-4.8/2.5R-R02C02-SMOSMO5/MOSMOS-N

4.8/2.5{230/250| 500 | 3800 | 40.0 | 113.7 | 153.5 |M18x1.5| @24 |M18x1.5| @24

P23-3.43 GRAOZCOZ-SMOSWOSMOSMUSA | 187 9864 3.6/3.6 2001260 500 | 4000 | 37.8 | 111.4 | 1532 |M18x15| 024 |M18x15| @24

e V3 9 9 ) 3.6/2.5{260/280| 500 | 4000 | 37.8 | 109.3 | 149.1 |[M18x1.5| @24 |M18x1.5| @24

P23-25/23R R02002SMOSMOSMOSMOS 25/2.5 1280/280| 500 | 4500 | 357 | 1052 | 145.0 |M18x1.5| 024 |M18x15| 024

P23-1.210.8R-R02C02-SMO3MO3/MO3MO3-N

— |0 || —|"— | ™| — ||

1.2/0.8 |280/280) 600 | 5000 | 33.4 | 97.4 | 1341 ‘M14x1.5| @20 M14x1.5| 020

GPC_P2302[2017|01 31



Pz 3 Gear Pump Catalogue

65 19 %, 1 7
36
t ] tos
° =1
i =T
B = =)
< S o = o
53
A
3 B
C
INLET G INLET : ;
“0" RING 28x2
14 o F 0
— i —
=+ | = | 26 011,
¥
G JTT5 . I -
3 — - —f— l._.__ %m
=)
2. F 14 =) E;'
OUTLET l [ a6
purch. | direct. displa- | nom. | speed | speed dimension

Order key cement | press. | MIN. | MAX. | A B c D E F G

code | ofrot. |1 sy | tbar] | [min] | [min®] | [mm] | [mm] | [mm] | (mm] | [mm] | [om] | [mm]

7.9/12.5|160/280| 500 | 3000 | 51.8 | 131.4 | 1651 | G3/8 | @24 | G3/8 | 024

P23-7.9/2.51-A03K03-C602P01/602602G02-N | 187 9702

0237 91 LA CCaP U GO2602G0 N 7.9/1.2 |160/280| 500 | 3000 | 51.8 | 129.0 | 1604 | G3/8 | @24 | G3/8 | 024

6.2/1.6 |180/280| 500 | 3500 | 48.6 | 123.4 | 155.6 | G3/8 | @24 | G3/8 | 024

P23-6.2/1.61-A03K03-C602P01/602602G02-N | 187 9923

3.3/4.4 1280/250| 500 | 4000 | 43.2 | 117.7 | 155.0 | G3/8 | @024 | G3/8 | 024

P23-3.3/4.41-A03K03-C602P01/602602G02-N

ST L e 2.5/4.8 |280/230| 500 | 3800 | 417 | 1155 | 1535 | G3/8 | 024 | G3/8 | 024

P32 5 A0 GO U GO2602G0 N 2.5/4.4 1280/250| 500 | 4000 | 41.7 | 1147 | 152.0 | G3/8 | @24 | G3/8 | 024

1.6/6.2 1280/180| 500 | 3500 | 40.1 | 115.0 | 155.6 | G3/8 | @24 | G3/8 | 024

P23-1.6/6.21-A03K03-CG02P01/602602602-N

1.6/5.8 1280/200 500 | 3500 | 40.1 | 1142 | 1541 | G3/8 | 024 | G3/8 | 024

P23-1.8/5.81-A03K03-CG02P01/G02602G02-N

—|=D|—|=|—|=|—|=|—|=|—|o|—|=|— || —

RGN 5 9572 1.6/4.8 2801230 500 | 3800 | 401 | 1123 | 1503 | G3/8 | 024 | G3/8 & 024

32 GPC_P2302|2017|01



AERO TECHNOLOGY & HYDRAULICSJ

Gear Pump Catalogue P2 3

68

524 02

2035

574

95|

ooy i o |0 v | e e e

[em®1] | [bar] | [min"] | [min?] | [mm] | [mm] | [mm] | [mm] | [mm] | [mm]
P23-7.9R-R02€02-5602G02-N.002 }E 79 500 | 3000 | 458 . 35 o - .
P23-6.2R-R02C02-5G02G02-N.002 FE 62 500 | 3500 e s s o - .
P23-5.8R-R02€02-5602G02-N.002 }E o g 500 | 3500 | 419 I o o - —
P23-4.8R-R02C02-5G02G02-N.002 FE L8 500 | 3800 100 s o o . -
P23-4.4R-R02C02-5602G02-N.002 }E i 500 | 2000 | 392 s o o - —
P23-3.6R-R02C02-5G02G02-N.002 | 187 9002 FE 16 |s0+5| 500 | 2000 | 378 -~ " o o -
P23-3.3R-R02€02-5602G02-N.002 }E 13 500 | 2000 | 372 " o o -~ —
P23-2.5R-R02C02-5G02G02-N.002 FE )5 500 | 4500 o s s o - -
P23-2.1R-R02€02-5602G02-N.002 }E 21 w00 | 4500 | 329 oo s o - —
P23-1.6R-R02C02-5G02G02-N.002 FE 16 w00 | 5000 "y 03 o o - -
P23-1.2R-R02€02-5602G02-N.002 }E 1 w00 | 5000 | 334 s o o - —
P23-0.8R-R02C02-5G02G02-N.002 FE 08 500 | 5000 | 326 . s o - .

GPC_P23|02|2017]01

33



Pz 3 Gear Pump Catalogue

|iho\{roj

AERO TECHNOLOGY & HYDRAULICS

N\

34

GPC_P23|02/2017/01




|iho\lroj

AERO TECHNOLOGY & HYDRAULICS

Gear Pump Catalogue Pz 3

\

GPC_P2302/2017/01

35



Pz 3 Gear Pump Catalogue

|iho\{roj

AERO TECHNOLOGY & HYDRAULICS

N\

36

GPC_P23|02/2017/01




JIHOSTROJ a.s.

Budgjovicka 148
CZ 382 32 Velesin
Czech Republic

tel.: +420 380340 511

fax: +420 380 340 612

AERO TECHNOLOGY & HYDRAULICS e-mail: mailbox@jihostroj.cz
http: /www.jihostroj.com

48°49'51.748" N 14°27'40.770" E




